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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
1) 2) 3)
1.
2716912 39|5616 5419882
2.
3
4,
5,
6.
4) 5) 6) b
793247 56|3256 23|5258 8.
9.
7) 8) 9)

498785

4919849

2219460
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
D) 256 2) 144 3) 183 256
27[6912 395616 54[9882 "
0 0 0 . 144
69 56 98
54 39 54 189
151 171 448 . a1r8
135 156 432
162 156 162 5. 58r8
162 156 162
0 0 0 6. 228r14
;. 179r14
4) 41r8 5) 58r8 6) 228r14
793247 56(3256 235258 s 201
0 0 0
32 32 52 o. 430
0 0 46
324 325 65
316 280 46
- 87 456 198
79 448 184
'8 8 14
7) 179r14 8) 201 9) 430
49[8785 49[0849 22[9460
0 0 0
87 98 94
49 98 88
388 04 66
343 0 66
455 49 00
441 49 0
14 0 0
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